

Time Worksheet

Name: _____

Exercise 1: Addition. Look at the example

$$2 \text{ h } 15 \text{ min} + 2 \text{ h } 20 \text{ min} = \boxed{4} \text{ h } \boxed{35} \text{ min}$$
$$\boxed{2} \text{ h} + \boxed{2} \text{ h} = \boxed{4} \text{ h}$$

$$\boxed{15} \text{ min} + \boxed{20} \text{ min} = \boxed{35} \text{ min}$$

$$4 \text{ h } 15 \text{ min} + 5 \text{ h } 30 \text{ min} = \underline{\hspace{1cm}} \text{ h } \underline{\hspace{1cm}} \text{ min}$$
$$\underline{\hspace{1cm}} \text{ h} + \underline{\hspace{1cm}} \text{ h} = \underline{\hspace{1cm}} \text{ h}$$

$$\underline{\hspace{1cm}} \text{ min} + \underline{\hspace{1cm}} \text{ min} = \underline{\hspace{1cm}} \text{ min}$$

$$1 \text{ h } 35 \text{ min} + 2 \text{ h } 20 \text{ min} = \underline{\hspace{1cm}} \text{ h } \underline{\hspace{1cm}} \text{ min}$$
$$\underline{\hspace{1cm}} \text{ h} + \underline{\hspace{1cm}} \text{ h} = \underline{\hspace{1cm}} \text{ h}$$

$$\underline{\hspace{1cm}} \text{ min} + \underline{\hspace{1cm}} \text{ min} = \underline{\hspace{1cm}} \text{ min}$$

$$3 \text{ h } 40 \text{ min} + 2 \text{ h } 10 \text{ min} = \underline{\hspace{1cm}} \text{ h } \underline{\hspace{1cm}} \text{ min}$$
$$\underline{\hspace{1cm}} \text{ h} + \underline{\hspace{1cm}} \text{ h} = \underline{\hspace{1cm}} \text{ h}$$

$$\underline{\hspace{1cm}} \text{ min} + \underline{\hspace{1cm}} \text{ min} = \underline{\hspace{1cm}} \text{ min}$$

$$7 \text{ h } 10 \text{ min} + 2 \text{ h } 45 \text{ min} = \underline{\hspace{1cm}} \text{ h } \underline{\hspace{1cm}} \text{ min}$$
$$\underline{\hspace{1cm}} \text{ h} + \underline{\hspace{1cm}} \text{ h} = \underline{\hspace{1cm}} \text{ h}$$

$$\underline{\hspace{1cm}} \text{ min} + \underline{\hspace{1cm}} \text{ min} = \underline{\hspace{1cm}} \text{ min}$$

$$6 \text{ h } 5 \text{ min} + 1 \text{ h } 30 \text{ min} = \underline{\hspace{1cm}} \text{ h } \underline{\hspace{1cm}} \text{ min}$$
$$\underline{\hspace{1cm}} \text{ h} + \underline{\hspace{1cm}} \text{ h} = \underline{\hspace{1cm}} \text{ h}$$

$$\underline{\hspace{1cm}} \text{ min} + \underline{\hspace{1cm}} \text{ min} = \underline{\hspace{1cm}} \text{ min}$$

Exercise 2: Subtraction. Look at the example

$$7 \text{ h } 20 \text{ min} - 3 \text{ h } 10 \text{ min} = \boxed{4} \text{ h } \boxed{10} \text{ min}$$
$$\boxed{7} \text{ h} - \boxed{3} \text{ h} = \boxed{4} \text{ h}$$

$$\boxed{20} \text{ min} - \boxed{10} \text{ min} = \boxed{10} \text{ min}$$

$$8 \text{ h } 45 \text{ min} - 3 \text{ h } 20 \text{ min} = \underline{\hspace{1cm}} \text{ h } \underline{\hspace{1cm}} \text{ min}$$

$$\underline{\hspace{1cm}} \text{ h} - \underline{\hspace{1cm}} \text{ h} = \underline{\hspace{1cm}} \text{ h}$$

$$\underline{\hspace{1cm}} \text{ min} - \underline{\hspace{1cm}} \text{ min} = \underline{\hspace{1cm}} \text{ min}$$

$$12 \text{ h } 35 \text{ min} - 7 \text{ h } 10 \text{ min} = \underline{\hspace{1cm}} \text{ h } \underline{\hspace{1cm}} \text{ min}$$

$$\underline{\hspace{1cm}} \text{ h} - \underline{\hspace{1cm}} \text{ h} = \underline{\hspace{1cm}} \text{ h}$$

$$\underline{\hspace{1cm}} \text{ min} - \underline{\hspace{1cm}} \text{ min} = \underline{\hspace{1cm}} \text{ min}$$

$$15 \text{ h } 40 \text{ min} - 9 \text{ h } 25 \text{ min} = \underline{\hspace{1cm}} \text{ h } \underline{\hspace{1cm}} \text{ min}$$

$$\underline{\hspace{1cm}} \text{ h} - \underline{\hspace{1cm}} \text{ h} = \underline{\hspace{1cm}} \text{ h}$$

$$\underline{\hspace{1cm}} \text{ min} - \underline{\hspace{1cm}} \text{ min} = \underline{\hspace{1cm}} \text{ min}$$

$$3 \text{ h } 20 \text{ min} - 2 \text{ h } 10 \text{ min} = \underline{\hspace{1cm}} \text{ h } \underline{\hspace{1cm}} \text{ min}$$

$$\underline{\hspace{1cm}} \text{ h} - \underline{\hspace{1cm}} \text{ h} = \underline{\hspace{1cm}} \text{ h}$$

$$\underline{\hspace{1cm}} \text{ min} - \underline{\hspace{1cm}} \text{ min} = \underline{\hspace{1cm}} \text{ min}$$

$$5 \text{ h } 15 \text{ min} - 1 \text{ h } 5 \text{ min} = \underline{\hspace{1cm}} \text{ h } \underline{\hspace{1cm}} \text{ min}$$

$$\underline{\hspace{1cm}} \text{ h} - \underline{\hspace{1cm}} \text{ h} = \underline{\hspace{1cm}} \text{ h}$$

$$\underline{\hspace{1cm}} \text{ min} - \underline{\hspace{1cm}} \text{ min} = \underline{\hspace{1cm}} \text{ min}$$